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016.9. HaiinuTe KOPHU ypaBHEHHsS HA 3aJaHHOM ITPOMEKYTHKeE:

1
a) sin x = 50 X € [0; 2r];

1
0) cosx:—jz-, e =hix):
: 2
B) sin x = ~?, X:€ [=R: 2]
3
I) COS X = ?, x € [=2%n; n].

16.10. HaiinuTe KOPHY 3aJaHHOTrO YPaBHEHUSA Ha 3aJaHHOM IIpOMe-
HKYTKe:
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a) sinx = 57 XE€ (—' itz
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B) sin x = ~§, e [=n: 20k
3

r) cos x = S P X € [=28; %]

16.10. HaiinnTe KOPHY 3aKaHHOTO YPaBHEHUSA Ha 3aJaHHOM IIpOMe-

KYTKE:

) inx—l o 4-1-' -1—-1—7-{-\°

sinz=1, e[l Lr)
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B) sin x = —\/—-_- : ed=4:3)



Pemure ypaBHeHUe:

016:13. a) (2 cos x + 1)(2 sin x — V3) = O;
6) 2cos x — 3sin x cos x = 0;
B) 4 sin”° x — 3 sin x = 0;

r) 2sin® x =1:=0.

016.14. a) 6 sin® x + sin x = 2;

6) 3 cos’ x = T (sin x + 1).



